21/09/2016 Staff Selection Commision

Downloaded from www.qmaths.in

Click to Print  logout Challenges
e
Staff Selection Commission
i (Government Of India)
S50
REGISTRATION NUMBER : gmaths.in CANDIDATE NAME : gmaths.in
EXAM DATE : 10-September-2016 EXAM START TIME : 10:00:00
EXAM NAME : SSC Examination 2016 EXAM DURATION : 01:15 Hrs
TOTAL MARKS : 200 TOTAL NO OF QUESTIONS : 100

Question 1.Select the related word/letters/numbers from the given alternatives:
&3 I faehodl 7 @ Aelfetrd Ysey 3TaT/TEAT 1 IAT|
Cytology : Cells :: ? : Birds

FITAHT Tt : Ry o: 2 : galr
Options:

1) Odontology

KIS

2) Mycology

Fdeh Tl

3) Etymology

2Aec AT

4) Ornithology

gehfaaeT

Correct Answer: Ornithology

qefifaameT

Candidate Answer: Ornithology
gefifaaet

Question 2.Select the related word/letters/numbers from the given alternatives:
&3 I faehodl A @ Aelfetrd Ysey 3TaTR/TEAT 1 IfAT|
RIGT : WDBY :: FUSH : ?

Options:
1) PKIQ
2) BYWD
3) DXWB
4) QKIR

Correct Answer: BYWD
Candidate Answer: PKIQ

Question 3.Select the related word/letters/numbers from the given alternatives:
& T Farepedl 7 @ wafoyd e/ 3T/ & g
42 :56::110:7

Options:

1) 18

2) 132

3) 136

4) 140

Correct Answer: 132
Candidate Answer: 132
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Question 4. Downloaded from www.qmaths.in

For the following questions

Find the odd word/letters/number from the given alternatives.

EATET weaT & foT 10 fqenedl & & TawH 2lee/316T/HEdT I giAv ?
Options:

1) Rupee

T

2) Pound

2@

) Yen

Cif

4) Currency

y:

Correct Answer: Currency
ol

9
Candidate Answer: Currency
Al

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

PrfaTEd wea # U a1v fenedl 7 & fawe eree) 37&T/dEdm &1 gfav ?

Options:
1) DAEH
2) KIMP
3) HEIL
4) FCGJ]

Correct Answer: KIMP
Candidate Answer: KIMP

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

PrAfafEd wea # U a1v faenedl 7 & faws eree) 3rwR/dedm &1 gfav ?
Options:

1) 43-6

2) 28-4

3) 50-7

4) 36-5

Correct Answer: 28-4

Candidate Answer: 28-4

Question 7.Arrange the following words as per order in the dictionary
fRrafaf@d eredl I ereewhier 7 fov a1v e & 3r7ar fafEw ?

1. Direction 2. Directed 3. Director 4.Directing
Options:
1)1,4,3,2
2)2,4,1,3
3)4,2,3,1
4)4,1,2,3
rrect Answer: 2, 4, 1,
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Candidate Answer: 2, 4, 1,3 Downloaded from www.qmaths.in

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
TFATET weaT & Ueh 31eTeha 12T 1T &, TSI Teh U ofedl &1 v 10 fashedt & & 9 GEY faehed YiAT it 3Tafsha bl G Y ?

IGT, JHS, KIR, LJQ, MKP, ?
Options:

1) LOP

2) NOP

3) NLO

4) LNO

Correct Answer: NLO
Candidate Answer: NLO

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
TFATET weaT & Ueh 31eTehe 12T 1T &, TSI Teh U ool &1 v a1v fashedt & & 98 GEY fehed YiAT it 3Tafsha ol O Y ?

6, 10, 18, 34, ?, 130
Options:

1) 78

2)52

3) 66

4) 94

Correct Answer: 66
Candidate Answer: 66

Question 10.Introducing Reeta, Monica said, "She is the only daughter of my father's only daughter." How is Monica related to Reeta?

ﬂawqmmﬁgamﬁwﬁm, " g A AT Y ThAE T Y THAE T §1" AT a7 Jer § w7 Few g 2
Options:

1) Aunt

T A /A

2) Niece

iah/#chIsi

3) Cousin

T [ F7AY T

4) Mother

A

Correct Answer: Mother
A

Candidate Answer: Mother
A

Question 11.In a row of students, if John , who is 16th from the left, and Johnson, who is 8th from the right, interchange their positions, John becomes 33rd from left.
How many students are there in a row?

o Y T G 7 ST 91 F 167 T W &, 3R ST, St gt T 8 T TR §, 379611 - 31T AT TRER Seof ol &1 SieT a1 & 337 T W @Y S &1 i &
Tl fohclel DI ?

Options:

1) 38

2) 39

3)40

4H4

Correct Answer: 40

Candidate Answer: 40

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:
rfad faeheat & & g eee iU St fGU T 2fee & TR T TIWT Fleh wET Sol1dT ST Hehell ?

ADMISSION
Options:

1) MISSION
2) DISMISS
3) MASONS
4) NOMADS
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Candidate Answer: DISMISS Downloaded from www.qmaths.in

Question 13.If in a certain language TEACHER is coded as QBXZEBO, then how is STUDENT coded in the same language?

i fardl faferse ot 7 TEACHER T QBXZEBO & &9 & lehel Tohal aTaT & [T 34 18T 7 STUDENT a1 haY héiehet feham Swam ?

Options:

1) PQRBAQK

2) PQRABKQ

3) PQRKBAQ

4) PRKQBAQ

Correct Answer: PQRABKQ
Candidate Answer: PQRABKQ

Question 14.If 'x' means addition, '-' means division, '=' means subtraction and '+' means multiplication, then which of the equations is correct?

TG X T ATAT TN B, - FT AT T G, + FT FcTol BT HY + T HcTold 0T g1, dT =@ 7 & HleT-H1 FHIHOT HeT & ?

Options:

1)16x5+10+4-3=19
2)16+5+10x4-3=9
3)16+5-10x4+3=9
4)16-5x10+4+3 =12

Correct Answer: 16 +5-10x4+3 =9
Candidate Answer: 16 +5-10x4+3=9

Question 15.If 4 x 5 x 2 = 524,
3x7x2=1723
and 6 x8 x7 =876

then9x4x5=7?

afg 4 x5x2 =524,
3x7x2=723

IR 6x8x7=28767ar

9x4x5="7?

Options:

1) 495

2) 459

3) 549

4) 954

Correct Answer: 459
Candidate Answer: 459

Question 16.Select the missing numbers from the given responses

T a1w faeredt 7 & oa 3i% A Hifore ?

43 |25 |(?
21 (40 |35
35 (34 |28

Options:

1) 36

2) 46

3) 40

4) 26

Correct Answer: 36

Candidate Answer: [ NOT ANSWERED ]
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Question 17.Johnson left for his office in i FONALIMOERTCERE hvvwwq(aimth@piwed to the South and covered 5km. Further
he turned to East & moved 8km. Finally he turned right and moved 10km. How far & in which directioh is he from his starting point?

SHeAHeT 37T Ao 3 foIT R & Tar | & SecX 3T AR 15 form. 3. =rem, fe 10 .. af¥erst &1 3% =ren, R a5 aferor &1 3 777 31 5 oo, =ram| sue a1 a5 & &
3T 737 3R 8 TR0, Tell| 3iwcld: g alfewt #7337 3T 10 T, =l T foieg & g =rell T 3 g & a5 foveteil oy & 3 fopar femmat & 2

Options:

1) 2 km, West

2 .. afRas

2) 5 km, East

5 7R q@

3) 3 km, North

3 R 3caX

4) 3 km, South

3 .3 gfayor

Correct Answer: 2 km, West
2 h.a 9

Candidate Answer: 2 km, West
2 .. afRas

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements: 1. All stenographers are lazy. 2. Some men are stenographers.
Conclusions: I. All lazy people are men. II. Some men are lazy.

FTaf@d 9T 7 U a7 & goFdey R 9 §, Srass 3t &Y fasend/Aeaan, 1 3R I fAemrer 13 €1 3maent R aeTT § o aarded O § a8 98 aead: 1T a2ai &
=T Il &aT 81 31Taet fA0TT et § o U 910 aordey & @ dla-ar fRad &7 & a8 fasey/aAeaar ferer 5 aear & ?

TFASH 11. T WA G 8

2. F© e VAR g

forseny : 1wl geet @ier 3mesh €
11 % 3Mes gedl &1

Options:

1) Only conclusion I follows

o fasewy [ T &

2) Only conclusion II follows

o sy 11 Ter &1

3) Both conclusion I and conclusion II follow
sy [ 31X 11 gt Ter €1

4) Neither conclusion I nor conclusion II follows

AT aY TSy [ T8y & 31K =7 &Y sy 11 | &1

Correct Answer: Only conclusion II follows

Fgel sy 11 TET &1

Candidate Answer: Only conclusion II follows

Fad fsay 11 T &

Question 19.Four positions of a cube are shown below. Which color is opposite to white color in the given cubes?

T fordr o7 T IR 3/aEa =R IR &1 feu 31w g=t & Ithe, 1 F Sioh A Sl -1 W1 § ?

TED RANGH |~ WHITE | RO

WHIIE
WHITE
WHire

YELLOWY BLUIE

ORAMGE

YELICHWY
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Options: Downloaded from www.qmaths.in
AR

2) Blue

e

3) Red

ollel

4) Yellow

el

Correct Answer: Blue

e

Candidate Answer: Blue
e

Question 20.Which one of the following figures best represents the relationship among Kitchen, House and Garden?

el # & e @ amefa WS, oY 3R ol & o =i § 2
Options:

Q0

ony,

3)

4)
Correct Answer:

O

Candidate Answer:

Ol@,
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Question 21.Which answer figure will comdkvid oarekeckfoom www. q maths.in

el Seca¥ el TeeT 3 & ufaed &l qur el ?

Options:
1)

Correct Answer:

N\
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Candidate Answer: Downloaded from www.qmaths.in

G

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

& 378 et Tt 7 & 37 I I A gAT Torwet we 3l AReT 2

Options:
1)

i
5

&
&
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Correct Answer: Downloaded from www.qmaths.in

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

I et heTet At STl FEWTT et & 378N FAISHR FIeT ST T Wikt & a1G a8 e Scc¥ TSI ST TS 3am ?

T i“.‘ EEEEEEEEEE|EEEEEEEEEEE
] | Y] 1 1
Fid i o - o
2 | -(‘ EHHH __:._:::i' '
1 1 | |
i i i o o s | i e
Options:
1)
o ||| e
REP!
® P
2)
e e e
S ammm——
e e e
3)'
o 4
>« "
2
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Correct Answer: Downloaded from www.gmaths.in

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I T EYOT &1 MN Y@T OR @1 ST oY & 918 3] 3Tl 3 & shlar- el weaT 3mepfer o1 @ gfafaes ghefr 2

M - - -
<
N
N
Options:
1)
EEEE
2)
TN
=2,
N
L1 EEEEEN
3)
T
EERE=SEIEE
= _\
a)
7
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co_rr_e'_:t_Ae_r:_ . Downloaded from www.qmaths.in

Candidate Answer:

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'P' can be represented by 02, 13, etc., and 'A' can
be represented by 57, 68, etc. Similarly you have to identify the set for the word 'GUNS'

AT wea 3 faeredt 7 fow a0 sear-wegg, 31w & ar aeit garT griiv arv §, S fo o) fw 97w & ameggt 81 g I & e iR dea frammo w4 & &
T ¥, R 3eTE 11 & 5 A 9 e, 3T TRl & Ueh &N I Tgel 3! AT 3R 16 & TAF8T TEAT Z@RT G ST TohelT ¥1 3ETeR0T & T, P oY 02, 13, 3T &arT a=fam
ST HehelT § AT A T 57, 68, 31TTE SaRT GRITAT ST HhelT §1 S NG ¥ 3T AT 2158 'GUNS' & T Tefg &1 Tgemetet &1

o |1 |2 |3 |4 5 |6 |7 |8 |9
o |s |u |p |E R 5 |6 [L |A N |D
1 |R |s |u [P [E 6§ |D |G |L |A N
2 E R S 9] P 7 lN D G L iA
3 P E R s U 8 ﬁ\ N .D' G rL
4 (u |p |E |R |5 5 [L |~ |n |0 |s

Options:

1) 88, 23, 59, 33
2) 66, 40, 67, 11
3) 55, 34, 77, 44
4) 99, 12, 86, 22

Correct Answer: 99, 12, 86, 22
Candidate Answer: 99, 12, 86, 22

Question 26.Which one of the following countries is not a member of the "BRICS" group?

frrafaf@rd # Fia-ar &er e g9 7 Fey 78§ ?
Options:

1) Brazil

STofrer

2) Russia

*H

3) China

AT

4) Indonesia

EECIRDI

Correct Answer: Indonesia
ESCIRDI

Candidate Answer: Indonesia

SRR

Question 27. 'Do or Die' is associated with which of the movements in India's freedom struggle

IR Tl HITH 3 ' AT FRY' T ART o HTecrort A B8 ?
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Options: Downloaded from www.qmaths.in

1) Dandi March

CERIEN

2) Non-Cooperation Movement

IEAT Aeereled

3) Khilafat Movement

TETRd 3Meareet

4) Quit India Movement

T BISY JHTealelst

Correct Answer: Quit India Movement
R BIST 3MTealeled

Candidate Answer: Quit India Movement

HRT BIST ATeqrolel

Question 28."Parsec’ is the unit measurement of

T FoREhT AT SIS § ?
Options:

1) Density of stars

AR & FETAr

2) Astronomical distance
TN g

3) Brightness of heavenly bodies
gamenry [3T fr a7

4) Orbital velocity of giant stars
eI AR T FHETRIT JaT

Correct Answer: Astronomical distance
AT gt
Candidate Answer: Astronomical distance

e gl

Question 29.A collective term used by the Jains for their sacred books is

ST G@RT e Ui It & fow AEfes 9 & fohd 2eg T ST fonall ST § 2
Options:

1) Prabandhas

ey

2) Angas

3T

3) Nibandhas

IGEC)

4) Charits

IR

Correct Answer: Angas
3T

Candidate Answer: [ NOT ANSWERED ]

Question 30.Which one of the following is not an instrument of Fiscal policy?

TR o Pl Recr Sy 18T & 2
Options:

1) Open Market Operations

Gell S19R AR

2) Taxation

T

3) Public borrowing

ST A 3YUR AT

4) Public expenditure

ST T

Correct Answer: Open Market Operations
el FTSIR JHToRereT

Candidate Answer: Taxation

T

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 31.At room temperature, the metDI@W"aﬂs@a:ded fr‘o m WWW. q m ath S. i N

FAY K T I hleT AY €] AT IHaeAT A Folt el & ?
Options:

1) Mercury

IR

2) Platinum

clfesa

3) Lead

drar

4) Zinc

EED

Correct Answer: Mercury
URe

Candidate Answer: Mercury
IR

Question 32.Which is known as carbolic acid?

Ffafad 7 wia FEffow 3w & A A ST g ?
Options:

1) Phenol

Thettel

2) Ethanol

VAT

3) Acetic acid

fafes ofas

4) Oxalic acid

Jiteranforn TRiE

Correct Answer: Phenol

Thetter
Candidate Answer: [ NOT ANSWERED ]

Question 33.0n which river is the Tehri dam built?

el aier by A1) o AT g3 & 2
Options:

1) Alakananda

3elchelocl

2) Bhagirathi

Epicey

3) Ganga

e

4) Hooghly

g

Correct Answer: Bhagirathi
Epicey

Candidate Answer: Bhagirathi
el

Question 34.With which country, India has the longest international boundary?

marimmﬁmmmmmﬁ%?
Options:

1) Nepal

9Tl

2) Pakistan

qfeREdTel

3) China

Gict

4) Bangladesh

FiTeleRr

Correct Answer: Bangladesh

SiTereRr
Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Candidate Answer: Bangadesh  Downloaded from www.gmaths.in
o

Question 35.Which State in India has the largest coastline?

R & oFE T 7 T8 il 98T T@T & ?
Options:

1) Tamil Nadu

affe g

2) Andhra Pradesh

T8 eRr

3) Gujrat

I

4) West Bengal

s S9mer

Correct Answer: Gujrat
ISR

Candidate Answer: Gujrat
ISR

k)

Question 36.Jog falls in Karnataka is located over which river?

Fedlee FUd ST 9uTd fhd A W & ?
Options:

1) Kaveri

FTAT

2) Godavari

Tierardy

3) Saraswati

FIEIAT

4) Krishna

ST

c

Correct Answer: Saraswati
aIEIAT

Candidate Answer: Krishna
FHEUTT

[2

Question 37.In which of the following market forms, a firm does not exercise control over price?

AR & A fFE TR AT SR AT Y G e & 30HT T ?
Options:

1) Monopoly

THIRTeT

2) Perfect competition

ot Fel

3) Oligopoly

JeITRISR

4) Monopolistic competition

TR gfaafEar

Correct Answer: Perfect competition
ot Fe

Candidate Answer: [ NOT ANSWERED ]

Question 38.Which one of the following areas of India is covered by tropical evergreen forest?

fAFATRTT & & $IR T leT-HT 817 SSURRTTHIT HETSER Je1 § Gl EIHT & ?
Options:

1) Semi-arid areas of Gujarat

[SRTeT &1 37 - geeh &1

2) Eastern Ghats

gdtere

3) Western Ghats

qf¥a#r g1e

4) Madhya Pradesh
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Correct Answer: Westen Ghats — Downloaded from www.gmaths.in
gfRasr ae

Candidate Answer: Western Ghats
gfeaett are

Question 39.Which one of the following substances is normally found in urine?

AT # & FioT-A1 T TAIAT 7 F 917 AT § ?
Options:

1) Blood proteins

& 9IS

2) creatinine

rufefaeT

3) red blood cells

STl T IR

4) white blood cells

2dd I&d HIfARRS

Correct Answer: creatinine

ferufefas

Candidate Answer: white blood cells
99T Yo IR

Question 40.The thymus gland produces a hormone called

AT AT o gralcg i ter Y §, 39 T ed &
Options:

1) thyroxine

URRITFTT

2) thymosin

ARG

3) thyronine

AR

4) calcitonin

SedeifereT

Correct Answer: thymosin

UIAHT
Candidate Answer: [ NOT ANSWERED ]

Question 41.Blood group AB has

T ol W wg A

Options:

1) No antigen

VISt =T8T |

2) No antibody

VeCIa1ST 18T YE o

3) Neither antigen nor antibody

ST Y Ueratet 31X &7 &) T dIarer aTe et &
4) Both antigen and antibody
VESIT TUT VSIS QAT 91T ST &
Correct Answer: No antibody
TS A

Candidate Answer: No antibody
VAIGTET 8T W@

Question 42.Which Vitamins are those, if taken in excess can be dangerous as they are stored in the body?

T AT faeTAet & TSraeh! sicaitien #T & da= & 9 eRR & Fajfed &1 o ¢ 3R eTersh T Stefd! & ?
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Options: Downloaded from www.qmaths.in

1) B Complex

o, STl

2)EandC

EGEIE:

3)BandC

Sraurdr

4)Aand D

T AT sy

Correct Answer: A and D
Taars

Candidate Answer: [ NOT ANSWERED ]

Question 43.Atomic explosion is triggered by

TRHI] SEhIEH e GaT SRd gt g ?
Options:

1) thermo nuclear reaction

e =gfererart

2) chemical reaction

TR ifRfRaT

3) controlled chain reaction

i e sfafsHar

4) uncontrolled chain reaction

Correct Answer: uncontrolled chain reaction
Candidate Answer: controlled chain reaction

Tegiee e siafhar
Question 44.The phenomenon of change in direction of light when it passes from one medium to another is called

SIERTRT 2T R 3 gleY aTet TRaeT 1 HTHT Sfd aF Uah A1 | 313 AT 7 gIdt IoRdT § &7 Fgelell § ?
Options:

1) Propagation

HeROT

2) Reflection

RIGT

3) Refraction

I

4) Dispersion

faeRor

Correct Answer: Refraction

3IgeT

Candidate Answer: Refraction

3addsT

Question 45.Who has the right to decide whether a Bill is a money bill or not?

Ig A0 o 7 SRR et @ 3 oot oger farer & 3rerar =181 2
Options:

1) Speaker of Lok Sabha

Sl FHT ETaT

2) Prime Minister

YT HAT

3) President

Tsgafa

4) Finance Minister

Rea &

Correct Answer: Speaker of Lok Sabha
ik ToTT 37egeT

Candidate Answer: Speaker of Lok Sabha
dlieh |HT 3TeTeT
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Question 46.What is the name of portal lauf ey WRElO@ e e file@ mnavantar qm aths.in

IR (3renToren) Hel FAEoT I AT X & T g1er & & Rord e 3T 30T o el T | g@en A FA1E ?
Options:

1) Sahyog

AT

2) Sahayata

qgradr

3) Sampark

o

4) Sachet

Had

Correct Answer: Sachet

I
Candidate Answer: [ NOT ANSWERED ]

Question 47.Which of the following is not an operating system

TR 3 Flet TR e g & 2
Options:

1) Android

Tgs

2) Vista

fawer

3)i0S

3T

4) Opera

3T

Correct Answer: Opera

3

Candidate Answer: Opera
3TRT

Question 48.Which pair of the following Indians has been selected for grant of Raman Magasaysay Award 2016

et # & g IR SiS T THOT AR 2016 & TR & FIT a1 977 ?
Options:

1) Bezwada Wilson and T.M. Krishna

S3TST faeweT 3R &Lua. oo

2) T.M. Krishna and Arvind Adiga

&.T. FoT 3R 3Rfawe e

3) Arvind Adiga and Bezwada Wilson

aRfaE AR 3R Fopamer e

4) T.M. Krishna and Satish Gujral

. U, T 3R HlRI IR

Correct Answer: Bezwada Wilson and T.M. Krishna

Sop3meT faewe 3R &ua. Feon

Candidate Answer: Bezwada Wilson and T.M. Krishna

T3St faewreT 3R &ua. Feom

Question 49.The discretionary powers of a Governor is limited in

TSI & AR waf )X AfAT § ?
Options:

1) Appointment of Chief Minister

e # i gt

2) Dismissal of the Ministry

HATT Y TETETN

3) Dissolution of the Legislative Assembly
TATST FHT I H3T AT

4) Assent to Bills

Freierent o depfer &

Correct Answer: Assent to Bills

Frererent & eeepfer et
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candidate Answer: Dissolution of the Lefid@wveslovaded from www. qm aths.in

T T T 79T AT

Question 50.Who is the first law officer of the country?

&er & v A e sla g ?
Options:

1) Chief Justice of India

GRS CESIDIIN

2) Attorney General

HAEIRIETEY

3) Law Minister

afer 74

4) Solicitor General

HT =TT ST

Correct Answer: Attorney General
HEIRIETET

Candidate Answer: Attorney General

AEIIATEY

Question 51.A is twice as good as B and together they finish a piece of work in 16 days. The number of days taken by A alone to finish the work is

B T 31UET A gILT 91l & 1 el § 3R 3 2elt Tk A 1 ohdeh Tl i 1 16 ot & QT o A1 §, AT A5 A 3holl 38 i a1 fohctel foret # oy o ?

Options:
1) 20 days
20 f&at

2) 21 days
21 et

3) 22 days
22 et

4) 24 days
24 f&at

Correct Answer: 24 days
24 feat

Candidate Answer: 24 days
24 feat

Question 52.The successive discount of 15%, 20% and 25% on an article is equivalent to the single discount of

Tl a6 IX heRl: 15%, 20% 3T 25% 1 ge fAeafai@d & & &g ge & s gl ?

Options:
1) 60%

2) 47%
3) 49%

4) 40%
Correct Answer: 49%
Candidate Answer: 49%

Question 53.The numbers ¥, y, z are respectively proportional to 2, 3, 5 and the sum of x, y and z is 80. If the number z is given by the equation z = ax-8, then a is

A X,y,2 ShERT: 2,3,5 % Tl H § 3R x,y,z 7 ATkl 80 & Ffe TEAT 2 T AT 2 = ax-8 &1 Al @ T AT A1 Hiford ?

Options:
1)6

2)3/2
3)3

4)5/2
Correct Answer: 6
Candidate Answer: 3

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 54.1If the ratio of cost price and sﬁownlgaded ;f’fopnmww . q m ath S. i N

T v Fe 3R TashT 7o 10:11 % 31e7dred & g1 oY ot Sfcrerer s gham ?
Options:

1) 1%

2) 10%

3) 5%

4) 8%
Correct Answer: 10%
Candidate Answer: 10%

Question 55.The price of rice has increased by 60%. In order to restore the original price, the new price must be reduced by

e AT 60% TG I §| A HN oT: HH ST TN oA & T 78 Hored 1 Rietelr o e anfed ?

Options:
1)

331“/
3 0

2)

371“;"
5

3) 40%

4) 45%
Correct Answer:

37 1 %
2 (o
Candidate Answer:

371‘}’
50

Question 56.A man covers a total distance of 100 km on bicycle. For the first 2 hours, the speed was 20 km/hr and for the rest of the journey, it came down to 10
km/hr. The average speed will be

RIS cafera arsforer = 100 6.7 6 gl 79 Far &1 Tgar 2 5o 7 35T arer 20 .ol /aver el & 3R QW 2w 3§ @ @rer 10 .o /aver g e 1 3iad @rer e
ffo ?
Options:
1)
121
2 km/hr

1
12—

2 rajder
2) 13 km/hr
13 fF.3h. /ger
3) 15 1/8 km/hr
15 1/8 fo.5./grer
4) 20 Km/hr
20 f&. 5. /erer
Correct Answer:

12 L
2 ym/hr

1
2 gy e
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Candidate Answer: Downloaded from www.qmaths.in

Question 57.Alipta got some amount of money from her father. In how many years will the ratio of the money and the interest obtained from it be 10:3 at 6% simple
interest per annum?

HfACAT B 38% TSl o HI$ Gy & frc=) s 7 6% AIRUT SATST Y & & 39 &l AR 37 0T e el sATsT &7 341 10:3 81 Sem ?

Options:
1) 7 years
7 oy

2) 3 years
3a¥

3) 5 years
53§

4) 4 years
43y

Correct Answer: 5 years

53%

Candidate Answer: 5 years
53§

Question 58.If (x - 2) (x - p) = X2 - ax + 6, then the value of (a-p)is

T (x - 2)(X - p) = X- ax + 6 @ ¥ (a - p) & AT TABT ?

Options:
1)0

2)1
3)2

4)3
Correct Answer: 2
Candidate Answer: 2

Question 59.

2 1
When 2x+;= 3, then va!ueofx3+;+2 is

2 1 :
afe 2x+;=3_5ﬁ,fﬁ X3+ + 2 IR

Options:
1) 2/7

2)7/8
3)7/2

4) 8/7
Correct Answer: 7/8
Candidate Answer: [ NOT ANSWERED ]

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 60. Downloaded from www.qmaths.in
Inatriangle ABC,if £A + £C = 140° and £A + 34B
= 180° then 2£A is equal to

forett apc BRI A 24+ 2C =140° TF 24+ 34B = 180°, 7 24 frod == g

Options:
1) 80°

2) 40°
3) 60°

4) 20°
Correct Answer: 60°
Candidate Answer: 60°

Question 61.
If PA and PB are two tangentsto a cirlce with centre O such that £APB = B0° Then,£A0P =

afe; pA 3R P e aea, e S o § W so ve voeft et § 7 2 4P = 80° &Y 2 40P =7

Options:
1) 40°

2) 50°
3) 60°

4) 70°
Correct Answer: 50°
Candidate Answer: 50°

Question 62.If tan (5x - 10°) = cot (5y + 20°), then the value of x + y is

Jfe tan (5x - 10°) = cot (5y + 20°) A X + y T AT A1 Hifer ?

Options:
1) 15°

2) 16°

3)
1
22-°0
2

4) 24°
Correct Answer: 16°
Candidate Answer: 16°

Question 63.Which one of the following is the minimum value of the sum of two integers whose product is 24?

2 quiten], TSIeTeT JUTAGS 24 B, & ANeTthel i wYATH Al e 7 & a/am gam ?

Options:
1) 25

2) 11
3)8

4) 10
Correct Answer: 10
Candidate Answer: 10

Question 64.The average marks obtained by a class of 60 students is 65. The average marks of half of the students is found to be 85. The average marks of the
remaining students is

60 faefet T ueh FaT 7 UTed 37T 1 3TET 65 §1 37 F 3 faeanfit gant sirader 85 3@ ured e o &, QW et gant wea i 3 Td HoR ?

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Options: Downloaded from www.qmaths.in

1) 35
2) 45
3)55

4) 65
Correct Answer: 45
Candidate Answer: 45

Question 65.
. 1 . 1
Ifx =+va + ¥ = Va- —.(a > 0),then the value of x* + y*-2x%yZis
va va

1 -
ex = a+ TEB?'IT}- = va- 7 (@> 00,87 al x* + y* - 2x2y2 FTHIA AT PIToTer

Options:
1) 16

2) 20
3) 10

4)5
Correct Answer: 16
Candidate Answer: 16

Question 66.
If x = Yx?+ 11 — 2 ,then the value of x*+ 5x%+ 12xis

afe x=32F+11-2 8 a x°*+ 5x2+ 12x B HH Fad|

Options:
1)0

2)3
3)7

4) 11
Correct Answer: 3
Candidate Answer: 3

Question 67.Which of the set of three sides can't form a triangle?

fefaf@a # & e sgonsit arel i & Je & Fos 71T aof Fhar @ 2
Options:

1)5cm, 6cm, 7cm

5 {5, 6 WA, 7 T

2)5cm, 8cm, 15¢cm

5 3.7, 8 {3, 15 /.

3)8cm, 15cm, 18 cm

8 q.a, 15 A.a., 18 I

4)6cm,7cm, 11 cm

6 WA, 7 T, 11 A

Correct Answer: 5cm, 8 cm, 15 cm

533, 8 @A, 15 I3

Candidate Answer: 5cm, 8 cm, 15 cm

5.7, 8 A, 15 QA

Question 68.
ABisthe diameter of a circlewith centre O and P* be a point on its circumference, [ f /POA = 120° them the value of £PB0 is:

TehEiT et ST TUTH AB & 31X 3T dhocs O § TUT 3T INIT W P U Tdeg | ATE 2POA = 120°G1AT  £PBO I A AT chloid 7
Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Options: Downloaded from www.qmaths.in

1) 30°
2) 60°
3) 50°

4) 40°
Correct Answer: 60°
Candidate Answer: 60°

Question 69.A pilot in an aeroplane at an altitude of 200 m observes two points lying on either side of a river. If the angles of depression of the two points be 45° and
60°, then the width of the river is

200 70, & F1$ I 3547 arel TR TR 1 arerere Tl 76 o St et o) & foieg d@rdT §1 I aet faregait & 3raetaret shior 45° 3R 60° g1 alY o7ér hr =lisrS A1 Hifory

?

Options:
1)
200

2)

(200 — ‘if,’;)m
3) 400 V3 m
4)
Hm

Correct Answer:
(200 — 2y

V3
Candidate Answer:

200
(200+22)ym

Question 70.A solid sphere of radius 9 cm is melted to form a sphere of radius 6 cm and a right circular cylinder of same radius. The height of the cylinder so formed
is

9 {.70. =T ATl U B Jieteh i Tt 6 B, ST aTell Teh IMoieh ST ST § | 3 YR a1 el Sl ST AT Shitord ?
Options:

1) 19 cm

19 @3

2)21cm

21 ..

3)23cm

23 7.7

4) 25cm

25 &7

Correct Answer: 19 cm
19 @7

Candidate Answer: 19 cm

19 @&

Question 71.An arc of 30° in one circle is double an arc in a second circle, the radius of which is three times the radius of the first. Then the angles subtended by the
arc of the second circle at its centre is

T god H 30° Y A ¢ S Th gAY ool AT A AT 8, TS q@Y geal i T vgel oo Y Jor A AieT-aof B, A g@¥ ged & Fhew § T SIRT el Rl 0T T gram
?

Options:

1) 3°

2) 4°

3) 5°

4) 6°
Correct Answer: 5°
Candidate Answer: [ NOT ANSWERED ]
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Question 72.Study the Bar diagram carefullDt@Wﬁ"@alé@dT Iﬁ‘@ Mrwwwleqmatchs\.cirﬁt investment (FDI) into India from all over

the World (in Rs. crores).

IR I F FAET Faed & AR A Fael geaat der (v 2 ) Fr ygfea o gxifar 71am §1 IR I &1 e Tqde 3ede AT 3R g2t # 3eaw A |

B

20
25
20
15
10
5
o l I
1993 1954 1955

1992 1996 1997
The sum of FDI of 1992 and 1993 is

a¥ 1992 31X 1993 # el yewer raer 1 For T e § ?
Options:

1) 15.58 cr

15.58 &I

2) 15.85cr

15.85 a3

3)15.22 cr

15.22 &Iz

4) 15.65 cr

15.65 a5

Correct Answer: 15.85 cr
15.85 &g

Candidate Answer: 15.85 cr
15.85 #I5

Question 73.Study the Bar diagram carefully and answer the questions. The Bar diagram shows the trends of foreign direct investment (FDI) into India from all over
the World (in Rs. crores).

IR I H GAET Faed § R 7 faeeh vewer aer (v & 3ms) i vgfea w1 arifar o €1 aR o s eareTgds st RIS iR gedt # seat AT |

35

30

25

20

15

0

5

B I I
1933 1534 1955

1332 1350 1357

The year which exhibited the 2nd highest growth percentage in FDI in India over the period shown is

IR a7y 39T 7 IR & T a¥ Taifle ARl ucget maer v arar 2
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Options: Downloaded from www.qmaths.in

1) 1993
2) 1994
3) 1997

4) 1996
Correct Answer: 1996
Candidate Answer: 1993

Question 74.Study the Bar diagram carefully and answer the questions. The Bar diagram shows the trends of foreign direct investment (FDI) into India from all over
the World (in Rs. crores).

TR I F AT 42T & AR 37 TRl searat aarer (T 3 3ms) $ ugfed #1 gffar 317 §1 IR I &7 Sqq@e e Hifae 31X 92t & 3eax AT |

35

e
15
1{: I
| l
0
1553 1554 1953 1350 1357

159z
The ratio of investment in 1997 to the average investment is

a¥ 1992 31 1997 # T aTv AT 7 31Tt FAT R |

Options:
1) 2:1

2)1:2
3)1:1

4)3:1
Correct Answer: 2:1
Candidate Answer: 2:1

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 75.Study the Bar diagram carefullDt@Wﬁi@aJd@dT Iﬁ‘@ Mrwww-nﬁqmatchs\jrﬁt investment (FDI) into India from all over

the World (in Rs. crores).

IR I F FAET Faed & AR A Fael geaar ader (v 2 ) i ygfea o ifar 7ram §1 IR I @1 edreTqde 3ede AT 3R g2 # 3caw A |

0
15
()
1992 1554 1955 1994 1357

1993

w
]

The absolute difference in FDI to India between 1996 and 1997

¥ 1996 31X 1997 & oI ARG ¥ Fv 370 el geast forder 3 Fqut 3war v 81

Options:
1) 7.29

2)7.13
3)7.16

4)7.22
Correct Answer: 7.13
Candidate Answer: 7.13

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

FORSWEAR

Options:

1) SWEAR
2) OATH

3) ABUSE
4) FORSAKE

Correct Answer: FORSAKE
Candidate Answer: [ NOT ANSWERED ]

Question 77.1In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

INCLEMENT
Options:

1) RADICAL

2) MILD

3) HARSH

4) TYRANNICAL

Correct Answer: MILD
Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) ANTICEPTIC

2) ANTECEPTIC

3) ANTICEPTIQUE

4) ANTISEPTIC

Correct Answer: ANTISEPTIC
Candidate Answer: ANTISEPTIC

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 79.In the following questions, onﬁwnk@ad@dvfmm wawpqmathsr.\cienas an error and click the button

corresponding to it. If the sentence is free from error, click the "No error" option.

The doctor says that(A)/the patient will recover(B)/in few days(C)/No Error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: B

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I do not think that(A)/I can cope up(B)/with this problem(C)/No Error(D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The mother(A)/yearns for(B)/her only child(C)/No Error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: D

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Since last year his condition has been
Options:

1) deteriorate

2) deteriorating

3) severely deteriorated

4) deterioratingly

Correct Answer: deteriorating
Candidate Answer: deteriorating

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Most children remain school between the ages of seven and ten.
Options:

1)in

2) under

3)at

4) inside

Correct Answer: at

Candidate Answer: at

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The quake also
Options:

1) tempered
2) tampered
3) erupted

4) triggered

Correct Answer: triggered
Candidate Answer: triggered

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 85.In each of the questions, four wnloadeﬁldfMMeWWWe. mth‘s t.)eisnexpresses the meaning of the Idiom/Phrase

and click the button corresponding to it.

Wet behind the ears

Options:

1) Skillful

2) Young and rich with experience

3) Young and without much experience

4) Hearing impaired

Correct Answer: Young and without much experience
Candidate Answer: Young and without much experience

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Under a cloud

Options:

1) Sheltered from the sun
2) Under suspicion

3) Out in the open

4) Get wet

Correct Answer: Under suspicion
Candidate Answer: Under suspicion

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Get the sack

Options:

1) Look for a sack
2) Find a sack

3) Get a call back
4) Be dismissed

Correct Answer: Be dismissed
Candidate Answer: Be dismissed

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A person's peculiar habit
Options:

1) Trait

2) Idiosyncracy

3) Idiolect

4) Talent

Correct Answer: Idiosyncracy
Candidate Answer: Idiosyncracy

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Speech delivered without preparation
Options:

1) Rhetoric

2) Oration

3) Extempore

4) Maiden speech

Correct Answer: Extempore
Candidate Answer: Extempore

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

One who will do any job for anyone for money

Options:

1) Mercenary
2) Recruit

3) Hoodlum
4) Merchant

Correct Answer: Mercenary
Candidate Answer: Mercenary
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Question 91.A sentence/a part of the sente@@wmib@ad eduaﬁpgmivwwwqq‘m a’th@.viinmprove the sentence. Choose the correct

alternative and click the button corresponding to it. In case no improvement is needed, click the buttoh corresponding to "No improvement".

The more they earn, more they spend

Options:

1) The more they earn, the more they spend

2) More they earn, the more they spend

3) More they earn, more they spend

4) No improvement

Correct Answer: The more they earn, the more they spend

Candidate Answer: The more they earn, the more they spend

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The offerings were placed on the alter

Options:

1) on the altar

2) on the steps

3) on the platform
4) No improvement

Correct Answer: on the altar
Candidate Answer: on the altar

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Really speaking, no man is perfect
Options:

1) Strictly

2) slightly

3) vaguely

4) No improvement

Correct Answer: Strictly

Candidate Answer: Strictly

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Mankind does not know this
Options:

1) do

2) had

3)is

4) No improvement

Correct Answer: No improvement

Candidate Answer: No improvement

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Practically every part of the coconut tree is used by man
Options:

1) each

2) most

3) any

4) No improvement

Correct Answer: No improvement

Candidate Answer: No improvement
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Question 96.A passage is given with 5 que@WWb@ &d edaémuwww§qmtm .ti E¥ch question out of the four alternatives and

click the button corresponding to it.

Dyslexia is a perceptual disorder often occurring in persons of normal, or even above average intelligence. The reader is unable to perceive correctly what is on a
page. Letters and numbers often appear reversed: "b" seems to be "d","quite" is "quiet" and "from" is "form". The reader tends to leave out letters or words or insert
words or letters that are not there. Vowel and consonant sounds may be confused. Many dyslexics are left-handed or able to write with either hand. They often
confuse left and right. Learning to speak may also be delayed beyond infancy. The condition seems to be inherited. It may persist into adulthood. However, with early
recognition and specialized approaches to teaching reading, most dyslexics can learn to read.

Some researchers believe that latent dyslexia may be aggravated by the way reading is taught. The modern whole-word, or look-and-say, method seems to be more
of a hindrance to learning for dyslexics than it is for ordinary pupils. The phonetic method of teaching students to learn letters and sound them out appears to achieve
better reading results. The problem of words that cannot be sounded out - such as rough, laugh or through - is not solved by phonetics. These words must simply be
memorized. However, for children with dyslexia the problem can be compounded by the failure of parents or teachers to recognize the condition. This can easily lead
to emotional problems for dyslexic children, who cannot understand their failure to keep up with their classmates.

Dyslexia, often occurring in persons of normal, or even above average intelligence, is a
Options:

1) Conceptual disorder

2) Pathological disease

3) Perceptive disorder

4) Perceptual disorder

Correct Answer: Perceptual disorder
Candidate Answer: Perceptual disorder

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Dyslexia is a perceptual disorder often occurring in persons of normal, or even above average intelligence. The reader is unable to perceive correctly what is on a
page. Letters and numbers often appear reversed: "b" seems to be "d","quite" is "quiet" and "from" is "form". The reader tends to leave out letters or words or insert
words or letters that are not there. Vowel and consonant sounds may be confused. Many dyslexics are left-handed or able to write with either hand. They often
confuse left and right. Learning to speak may also be delayed beyond infancy. The condition seems to be inherited. It may persist into adulthood. However, with early
recognition and specialized approaches to teaching reading, most dyslexics can learn to read.

Some researchers believe that latent dyslexia may be aggravated by the way reading is taught. The modern whole-word, or look-and-say, method seems to be more
of a hindrance to learning for dyslexics than it is for ordinary pupils. The phonetic method of teaching students to learn letters and sound them out appears to achieve
better reading results. The problem of words that cannot be sounded out - such as rough, laugh or through - is not solved by phonetics. These words must simply be
memorized. However, for children with dyslexia the problem can be compounded by the failure of parents or teachers to recognize the condition. This can easily lead
to emotional problems for dyslexic children, who cannot understand their failure to keep up with their classmates.

In Dyslexia, letters and figures often appear
Options:

1) Inverted

2) Blurred

3) Reversed

4) Clustered

Correct Answer: Reversed

Candidate Answer: Reversed

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Dyslexia is a perceptual disorder often occurring in persons of normal, or even above average intelligence. The reader is unable to perceive correctly what is on a
page. Letters and numbers often appear reversed: "b" seems to be "d","quite" is "quiet" and "from" is "form". The reader tends to leave out letters or words or insert
words or letters that are not there. Vowel and consonant sounds may be confused. Many dyslexics are left-handed or able to write with either hand. They often
confuse left and right. Learning to speak may also be delayed beyond infancy. The condition seems to be inherited. It may persist into adulthood. However, with early
recognition and specialized approaches to teaching reading, most dyslexics can learn to read.

Some researchers believe that latent dyslexia may be aggravated by the way reading is taught. The modern whole-word, or look-and-say, method seems to be more
of a hindrance to learning for dyslexics than it is for ordinary pupils. The phonetic method of teaching students to learn letters and sound them out appears to achieve
better reading results. The problem of words that cannot be sounded out - such as rough, laugh or through - is not solved by phonetics. These words must simply be
memorized. However, for children with dyslexia the problem can be compounded by the failure of parents or teachers to recognize the condition. This can easily lead
to emotional problems for dyslexic children, who cannot understand their failure to keep up with their classmates.

People suffering from dyslexia are often

Options:

1) right handed

2) far sighted

3) ambidextrous
4) only left handed

Correct Answer: ambidextrous
Candidate Answer: ambidextrous
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Question 99.A passage is given with 5 que@WWb@ &d edaémuwww§qmtm .ti E¥ch question out of the four alternatives and

click the button corresponding to it.

Dyslexia is a perceptual disorder often occurring in persons of normal, or even above average intelligence. The reader is unable to perceive correctly what is on a
page. Letters and numbers often appear reversed: "b" seems to be "d","quite" is "quiet" and "from" is "form". The reader tends to leave out letters or words or insert
words or letters that are not there. Vowel and consonant sounds may be confused. Many dyslexics are left-handed or able to write with either hand. They often
confuse left and right. Learning to speak may also be delayed beyond infancy. The condition seems to be inherited. It may persist into adulthood. However, with early
recognition and specialized approaches to teaching reading, most dyslexics can learn to read.

Some researchers believe that latent dyslexia may be aggravated by the way reading is taught. The modern whole-word, or look-and-say, method seems to be more
of a hindrance to learning for dyslexics than it is for ordinary pupils. The phonetic method of teaching students to learn letters and sound them out appears to achieve
better reading results. The problem of words that cannot be sounded out - such as rough, laugh or through - is not solved by phonetics. These words must simply be
memorized. However, for children with dyslexia the problem can be compounded by the failure of parents or teachers to recognize the condition. This can easily lead
to emotional problems for dyslexic children, who cannot understand their failure to keep up with their classmates.

Dyslexia may

Options:

1) be noticed during infancy

2) last till childhood

3) persist into adulthood

4) end when one goes to school

Correct Answer: persist into adulthood
Candidate Answer: persist into adulthood

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Dyslexia is a perceptual disorder often occurring in persons of normal, or even above average intelligence. The reader is unable to perceive correctly what is on a
page. Letters and numbers often appear reversed: "b" seems to be "d","quite" is "quiet" and "from" is "form". The reader tends to leave out letters or words or insert
words or letters that are not there. Vowel and consonant sounds may be confused. Many dyslexics are left-handed or able to write with either hand. They often
confuse left and right. Learning to speak may also be delayed beyond infancy. The condition seems to be inherited. It may persist into adulthood. However, with early
recognition and specialized approaches to teaching reading, most dyslexics can learn to read.

Some researchers believe that latent dyslexia may be aggravated by the way reading is taught. The modern whole-word, or look-and-say, method seems to be more
of a hindrance to learning for dyslexics than it is for ordinary pupils. The phonetic method of teaching students to learn letters and sound them out appears to achieve
better reading results. The problem of words that cannot be sounded out - such as rough, laugh or through - is not solved by phonetics. These words must simply be
memorized. However, for children with dyslexia the problem can be compounded by the failure of parents or teachers to recognize the condition. This can easily lead
to emotional problems for dyslexic children, who cannot understand their failure to keep up with their classmates.

The problem of perception can be compounded by the failure of parents and teachers to

Options:

1) provide treatment

2) recognize the condition

3) correct the child at infancy
4) understand the child

Correct Answer: recognize the condition
Candidate Answer: recognize the condition
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